8,100 8,100 6.525
225 1,800 900 1,575675 2,925 225 1,800[900{ 2,250 2,925 1,800 900450900675 1,800
" §
: g gl e
********** L L 2
: g e g o
o 2 . L - N 2 b
5 ~ A o —
= ‘ ot %
8 8 8 ’ R - .
S S S s 8 “L— 3
§ | 5 5
o ‘ T‘¥4§ 19.9
8 8 — e 8
d; i H 77777 bl N i g %
[ b o
: | S
g g o — _
9. 717 1,800J 4,950 J1,350 2,925 J 3,375
2,475 167% 2,025J 1,57% 1,35 8 100 6 525
8,100
1 2 3
)
77.95 (23.57)
47.07 (14.23)
32.14 (b.72)
45. 41 (13.73)
31.38 (b.49)
108.93 (B2.94)
(47.07/77.95)x%x100 60.39%
(108.93/77.95)x100 139.75%
:14.88
2023/ 08/ 24 2

1/ 100




o K A(EHh)
NO X n n Y nt1— Y n-1 X (Yn+1* Y n-1 )
Al 270. 352 289. 148 ~11. 842 -3201. 508384
A2 273. 292 279. 886 -6.503 -1777. 217876
X1 280. 915 282. 645 11. 842 3326. 595430
SB1 278. 031 291. 728 6.503 1808. 035593
& 3 155. 904763
& G m M 77. 9523815
oA 77.95 m2
% Aty hRy7)
NO X n n Ynﬂf Yn*l Xn‘ ( Yn+1* Y n-1
SB1 278. 031 291. 728 -3.143 -873. 851433
Al 270. 352 289. 148 -2. 043 -552. 329136
A3 270. 181 289. 685 3.143 849. 178883
X2 277. 852 292. 291 2.043 567. 651636
& & -9. 350050
& G om 4. 6750250
OB 4.67 m2
% B ()
NO X n n Yn+1*Yn*l Xn' (Yn+1* Yn*l
Al 270. 352 289. 148 -6. 673 -1804. 058896
A2 273. 292 279. 886 -10. 417 -2846. 882764
X5 270. 101 278.731 -2.777 ~750. 070477
X4 266. 098 277.109 7.828 2083. 015144
SB2 262. 647 286. 559 12. 039 3162. 007233
& &t -155. 989760
& G om 77. 9948800
OB 77.99 m2
IS B(y hNy )
NO X n n Yn+1*Yn*l Xn' (Yn+1* Yn*l
Al 270. 352 289. 148 3.126 845. 120352
A3 270. 181 289. 685 -2. 086 -563. 597566
X3 262. 463 287. 062 -3.126 -820. 459338
SB2 262. 647 286. 559 2. 086 547. 881642
& & 8. 945090
& FF R 4. 4725450
o fE 4.47 m2
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